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Problend Let P Ca and d bi be two 3 3 matrices

with bij 21 5 ai for all 1 E i j 13 If dit P 2 then

what is det B JEE 2012



Sod the way would be
to just write

Gan 8912 16913

892 16922 32923

1693 32932 64933

at a 4 8 16 at
921 2922 4923

4 8 16X 2 6 X dit P

213.4

There is an easier way



Clearly If constant Then we can jut identify

this constant

Tut take P G
then a 81

So dit d 213 11



Problems at z be a complex member s t the imaginary

partof z is non Zero and a 22 2 1 is real Then

a cannot take the
value

a 1 b 1 3
e 112 d 314 JEE 2014



Sold Let zentiy then a nitty t fatty 1

a x y't n tr if 2nyty
Since a EIR so any y 0 2n 1 0 since y 0

N 1
2

Thus a Y
As YER and y 0 so y 70 Hence 92314 so a 314



Pobla The fu f 0,33 1,29 defined by

ffa 2n 1572 362 1 is

1 1 onto

b onto but not 1 1

C 1 1 but not
onto

d neither l I nor onto



8011 f m 6N 30m 36 612 2 n 3

Both rook off m are simple and lie in 0,33

So f is positive on 0,2 and negative on 2,3

So f ie neither strictly inelealing
nor

decreasing on 0,33 to not 1 1

fie increasing on 0,21 the image

of 0,2 in the interval f o f 273 11,297

This fir onto
Answer is b x



ProblemI Let an.az he in harmonic progrenian niter

91 5 and an
25 what is the least positive integer

n for which an 20
JEE 20127



811 Let bis Yai then bi's are in an A P

Let the common diff be d Hue by Ya 115

bro law 1
25

Aho bro bit 19d d 4475

So bn 445,1 45
9
77

Clearly an bn have the same sign
bn 20 iff 96 Un

The least value of n forwhich this
is true is n 25 x



Poof Let X and Y he to events e t PA 141 42 PM1 3
1
3

and Pex ny 46 What is PAUY Are X andY independent

JEE 2012



Sot Plym
PCpY 12

PM x MYTH 43

Allo PIXNY 116

So P X Yz and Ply 43

PIXUY PIX PM PINY 42 113 16 93
Allo PIXNY PIX Ply so X and Y are independent y



ProblemI what is the centre of the circle inscribed in
the

square determined by the twopairs of lines
set 8m 12 0

and ye nay 45 0 JEE 2003



Solf Solving we got 2 2,6

7 519

The centre of the circle in
the mid pt of the diagonal

Pick the points 2,5 and 6,9 The mid ptis

64 921 4,7 q



Problemf what is the co efficient of
2

in the exp

of Itt 1 12 Itt JEE 2003



81 1 12 1 297 1 12 224 236

So 24 EET 212 E Ht

at 1 1 2 4 y



Proby what is the natural domain of
flak sin 2n COFE 2003



Sold For sin 2n to be defined we need a E E 1,13

and have N E 12142

For Vsintamett to be defined we need

sin 112m17 T 6 I 2ns sin f 76
2n 7 1

2

27 Yy
So the answer is set Yu Nz p



Problems Let u and u be positive integers s t no k

Bore that 2 8 a an i 4 In t c a 1

C
JEE 2003



Let S 2 8 2 7 In t ten 1 Y

f EGrand
sth term of 2 1

1 y



Boffo Let a and p be the roots of m2 6n
2 0 with

a p If an 21 B for mil what is the value of 91024s
JEE 2011



Solid we have 2262 2

2162 1 22
2

and P 613 2pm
2

an 69m a 29m 2

910 699 298 910
2491 3.11



Problem's Let no yo be the Sol of the following ghs

2
en

y
ln 3

and 3hm 2 buy

What is the value of no
JEE 2011



Sold Jake logarithm on both sides to get

2
eh zyjln3

enough en y
bn

luz t Cnn 2 ln 3 lay ln3

Cu3 Clan luz lng
solving for bun lay we get bun luz a Ya y



Bobby Let P o since cos O R core and

Q O sin O cosa R since

what is the relationship bet P and Q JEE 2011



Sold since Coo Euro Rt 1 wa since

since two Asia a R 1 since no

ma

Can wO since

So Ped H



Thank You


